g 2E

P

nEg o]t A

flo
M

52
ftlo

i)
i)
=

QD 4x-3=5=>4x=5+3
O x2=-x+4=>x+x=4+2
© 7T+2x=6-8x=>2x-8x=6+7

® -3x+5=2x-3=-3x-2x=-3-5

@ 9Ix+l=4x= 9x—4x=-1

YR
=¥




2. Oe 3 AT

@ bx-T7

@ x®-4dx=x>+3x-1
@ 3x-2=3(x+5)

@ 2x-4=2(x-2)

® 3(x-2)+x+1=2(2x+3)



® 3(1-x)-3x=0
@ 2+4+x-2x2=1-2x2

B x+24+44=x+6

@ 4x+8=8+4x

@ 4 =3x+ 4x2



@ 1 G 2

3 0



5.

HF

o

A

A
=1

D1

0.5x— 1.2 =0.2x + 0.32] = F5}4H ?

@ 2 3 3 @ 4



%1 ‘].1:1]—7(4 /UQJ 32%

o o 1

@ EA hee aFE x o] A o2 yehdn

o
He
u)

©)
@ g4
©)



= W84S olFsiM & i, A8 S0 A4S St

3(22-1)-5= —Zx:l
6x—3—-5=—-2x

6x—8= —2LL‘:| ©
6rt+22=38 :|©
8r=38 :I@

=1 :|®

@a=bod ="
a b
©a=bolHa-c=b-c
®a=b°lHa+c=b+c
® a:bo]@g:é(%ci())
c ¢
@ a=b°|"H ac = bc
® 6,0 ® 6,6 ® Q,6
@ ©, @ ® O, ©. 0




8 4x-3-(2x-7)=2+3x-1) dWtx=a¥d W, aly-3)+
2(y —a) — 4 °] S|E Fotofet.

al:tjl-:y_



3(x+2.6)

,07(x-2) =

1
3

1
Zx—Z
3




10. kg IA o] gre] A2 vt )9 o G| Faeu] gt
SR A1) golth, o W x o] g Ftele,

QQQ



1 .
11. w4 5(x—3):3: (0.3x +1) : 5 & TFHoh= x 9] 3h2?

@ -60 @ -30 3 0 @ 30 ® 60



12.

x o B
Fsfefet.

ge
»

C]-Zoq/*\l 3X—2:2x+a946H7]_x:_3

Q]
=

o, a 9

Els

fijo



13 T = = -3 — o

.= o]‘].l:ﬂ-;(
2 A
o (3“‘1] 2x 3
§ ‘+ 5x—3 9] ]
ax
1
x+62
7t 2
E =
,a

a

o



|7}

2a+3x =bx-8 9

=
54

29

14. ot

ol
0

‘ol

@ a=4,b=0

D a=-4,b=3

@ a=3,b=-4

-3

® a=-4,b

® a=1,b=0



15. T a,bol st a®b=2(a+b)—ab L W, x| gH2?

Bo(x+1)}+{(2x-4) @1} =8

D 4 @ 5 B 6 @ 7 ® 8



(x=2): (bx-2) =

1: 4

Q-




-6 — 5 - _ _ 1
17. M+y4::xé+ :x3 gusmate b7 L, - o S

Fotofel,

YR
=%




@1
® 17} gt



1
T

3

=
=

o7k 847t )

4 08-0.1x 9

- - 3x—
W AP

x of 3

19.

shelat.

q_

o
=

3% a ) AR



20. o= xofl Wt T

L

A0 S7h A 2 ), a0 Zhe?

X

—(x—4) = -5x+ 32, E= 0.9a-2.3

N~

@ 8 B 12



